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UNIT ONE
Copy the following words and memorize their meanings:

an iron-core coil — KOTyIlIKa 3 CepACUHUKOM;

an oscillating circuit — renepaTopHa cxema;

a pilot lamp — KoHTpONBHA NamMTIa;

armature — apmarypa, OpoHs (kKabemro);

a valve — ximamnan;

a monitoring valve (signal) — KOHTpOJIbHMI KJIamaH (CUTHAN);
to activate — MpUBOAUTH B JIIIO;

to withdraw energy — 3abupartu eHeprio;

inductive train control — cucremMa aBTOMaTHYHOTO KepyBaHHSA
raJIbMOM;

to resonate — pe30HyBaTH;

a driving motor — TATOBUM €JIEKTPOJIBUTYH;

short-circuited — KOpOTKO3aMKHEHU;

to tune — HaJIalITOBYBaTH, PETYIIOBATH,

in tune — TOYHO;

to interrupt — nepepnaru;

to fail — mepecraBatu 1i9TH, BUXOJUTHU 3 Jady;

a failure — mcyBaHHs1, BIZIMOBIICHHS B pOOOTI, TTOMHUJIKA;

to attract — mpuBa0OIIIOBaTH;

to release — 3BUIBHATH, pO30JIOKYBATH.

Read and translate the text using a dictionary if necessary.

Scientific methods of engineering are applied in several fields
not connected directly to manufacture and construction. Modern
engineering is characterized by the broad application of what is known
as systems engineering principles. The systems approach is a
methodology of decision-making in design, operation, or construction
that adopts (1) the formal process included in what is known as the
scientific method; (2) an interdisciplinary, or team, approach, using
specialists from not only the various engineering disciplines, but from
legal, social, aesthetic, and behavioral fields as well; (3) a formal
sequence of procedure employing the principles of operations
research.



In effect, therefore, transportation engineering in its broadest
sense includes not only design of the transportation system and
building of its lines and rolling stock, but also determination of the
traffic requirements of the route followed. It is also concerned with
setting up efficient and safe schedules, and the interaction of the
system with the community and the environment. Engineers in
industry work not only with machines but also with people, to
determine, for example, how machines can be operated most
efficiently by the workers. A small change in the location of the
controls of a machine or of its position with relation to other machines
or equipment, or a change in the muscular movements of the operator,
often results in greatly increased production. This type of engineering
work is called time-study engineering.

INDUCTIVE CONTROL SYSTEM

For use on busy lines various safety devices are additionally
available. One of these is the inductive train control. Each signal on a
section of the line equipped with this system has a device which
activates the brakes of a passing train. The locomotive is provided
with a ”transmitter” which has an iron-core coil and a condenser.

This oscillating circuit is tuned to 2000 cycles/sec. and is
supplied with current from a high-frequency generator to which the
coil of an electromagnet for a relay is connected. The high-frequency
generator is driven by an electric motor or a small steam turbine which
also drives a 24-volt direct-current dynamo. A second relay and two
pilot lamps are connected to this dynamo. When the system is in
operation, the high-frequency generator supplies current to the
oscillating circuit of the locomotive and to the high-frequency relay,
so that the armature of the latter is attracted by the electromagnet and
allows current to flow through the 24-volt direct-current relay. When
thus energized, the relay interrupts a flow of current to the actuating
electromagnet of a valve. The signal beside the railway track is also
equipped with an oscillating circuit tuned to 2000 cycles/sec. When
the signal is at “safe”, its oscillating circuit is short-circuited and has
no effect on the passing locomotive.

However, if the signal is at “stop” and the train nevertheless fails
to stop, the oscillating circuit of the signal will resonate in tune with



that of the passing locomotive and withdraw so much energy from the
latter circuit that the armature of the high-frequency relay is no longer
sufficiently strongly attracted by the electromagnet and is therefore
released. This in turn cuts off supply of current to the 24-volt relay,
which then likewise (Tak xe) releases its armature. This completes the
electric circuit to the electro-magnet that controls the monitoring
valve. When this happens, the monitoring valve causes the brakes to
be applied and the driving motor of the locomotive to be switched.

Based on the applications, the Rail Administration shall establish
a draft working timetable for the next timetable period no later than
four months after the deadline for the submission of applications for
capacity. The draft working timetable may contain information on the
capacity that the Rail Administration proposes to allocate to an
applicant only to such an extent and with such restrictions as is
necessary for implementing traffic control for the use of this capacity.
The draft working timetable shall primarily be based on supposition
that the requested capacity will be allocated, provided that the
different train paths enable railway traffic to be operated in accordance
with the technical and safety regulations. In order to improve the
allocation of capacity, the Rail Administration may, however, offer
applicants capacity that does not essentially differ from the capacity
they have requested. It is also possible not to allocate capacity,
provided that reserve capacity is needed for the timetable period as a
result of the priority order applied to railway traffic. The Rail
Administration shall send the draft working timetable to applicants for
information within the period of time referred to in subsection 1 and
give them the opportunity to comment. Comments shall be presented
within 30 days after receipt of the draft working timetable. Customers
purchasing freight transport services and associations representing
those who purchase rail transport services are entitled to present
comments on the draft working timetable within 30 days, counted
from the date on which the Rail Administration publishes an
announcement in its collection of regulations that the draft working
timetable has been established.



Ex.1. Copy the following words. One word in line doesn’t
belong to the group. Cross out the odd word and explain your
choice.

1) a train, a plane, an automobile, a rail car.
2) steam, diesel, electric, air.

3) a second, an hour, a mile, a minute.

4) current, voltage, time, resistance.

5) relay, transistor, diode, photo.

6) turbine, motor, generator, electron.

7) a railway, a highway, a runway, a road.

Ex. 2. Answer the following questions to the text.

1 Where are the scientific methods of engineering applied?

2 What does transportation engineering in the broadest sense include?
3 What is the signal beside the railway track equipped with?

4 What do we need a timetable for ?

5 What happens if a train fails to stop ?

6 What does the Rail Administration do?

7 What is important for timetable?

8 What kind of device i1s the line equipped with?

9 What does a "transmitter’have?

10 What is the high-frequency generator driven by?

Ex. 3. Complete the sentences:

L o are additionally available.

2 The locomotive is provided witha .................. and a condenser.

3 The high-frequency generator is ...which also drives a ...... dynamo.
4 When thus energized, the relay ........................ooll. of a valve.
5 This in turn cuts off supply of current ................ which then
likewise releases its armature.

6 The draft working timetable shall ..................... that the
requested capacity will be allocated, provided that the ......... railway

traffic to be operated in accordance withthe ...........................



Ex. 4. Translate the words and phrases given in the below
into English:

KOHTPOJBHUN KJIaraH (CUTHaM); BIAMOBJICHHS B POOOTI, MOMUJIKA;
reHepaTopHa CXeMa; BUXOAUTU 3 JIaay;, CHUCTeMa aBTOMAaTUYHOTO
KepyBaHHS  TaJbMOM; TOYKOBA  aBTOMaTM4YHAa  JIOKOMOTHBHA
CUTHAJI3allisl; YCTaTKyBaTH PEUKOBUMH JIAHIIOTAMU;, €IUHUN IIEHTP
KepyBaHHS; apMaTypa, OpoHs (kabero); KOTYIIKa 3 CEPICUHUKOM.

GRAMMAR REVIEW

Ex.1. TEST. Choose the right variant.

1) Passengers come to the airport an hour before the take-off
time.

a) are allowed to b) must c) will not able to d) needn’t

2) We usually go to the south by plane but tomorrow we travel

three by train as we didn’t make a reservation for the flight.

a) shall be allowed to b) needn’t c) shall have to d) should

3) You phone me again, I never forget my promise.

a) need not b) must not ¢) can not d) are not allowed

4)1 take a bus because Martin gave me a lift.

a) did not have to b) am not able to c) was allowed to d) was to

5) When the new road is built, I drive to work in under half an
hour. Now 1 spend much more time.

a) are able to b) shall be able to c) shall be allowed to d) could

6) The pilot land the plane on only one engine.

a) needn’t b) was able to ¢) should d) were allowed to

7) Airline passengers use mobile telephones during the flight.
a) are able to b) are not allowed to c¢) were to d) needn’t

8) Stay here till she is free. I think you wait long.

a) need not b) will not have to c) are not allowed to d) shouldn’t
9) According to the rules a football player touch the ball with
his hands.

a) is able to b) has to ¢) must not d) will be allowed to

10) Luckily I find a taxi.

a) have to b) could c) was to d) shall not be allowed

11) You shout, I am not deaf.

a) need not b) will not be able to c¢) are not allowed to d) can
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12) The speed in cities exceed 60 km per hour.

a) shouldn’t b) is to c¢) need not d) will be allowed to

13) It is a non-smoking carriage. You smoke here.

a) must not b) should c¢) need not d) are allowed to

14) You carry your driving license with you.

a) should b) are not allowed to ¢) will not be able to d) was to
15) You answer the question if you don’t want to.

a) have to b) need not c¢) may d) will be able to

Ex.2. Past Indefinite, Past Continuous or Past Perfect? Put
the verbs into the correct tense forms.

1) The police officer [to ask] me what I [to do] at the time when the
accident took place.

2) They spoke so quickly that I didn’t understand what they [to talk]
about.

3) While we [to wait] for the train, it [to start] to rain.

4) We knew that the 2 o’clock train [to leave] already and decided to
go by bus.

5) Before 1 came to the office the manager already [to sign] the
documents.

6) Where... you [to be] at about three yesterday afternoon? — Oh, I [to
repair| my car at that time.

7) 1 [to see] you from the bus yesterday. Where ... you [to hurry] at
that time?

8) The journey from Paris to London [to take] much longer before the
Channel Tunnel was built.

9) I didn’t convince the inspector that I [to lose] my ticket only some
moments before.

10) The station master [to say] that no trains [to arrive] at the station
during the night because of the heavy snowstorm in the mountains.

11) They [to work out] a detailed plan before starting off on an
expedition.

12) Mary [to clean] the windscreen when she noticed a crack in the
glass.

13) Some people [to sleep] on the benches waiting for their trains.

14) Yesterday he [to pass] his driving test at the first attempt.



Ex. 3. Choose the required voice form of the predicates
(Active or Passive).

1) A new device [has tested; has been tested] in the lab.

2) The dining car was crowded but we [served; were served] rather
fast.

3) A taxi [called; was called] 15 minutes ago; so we [are expecting;
are being expected] it any moment.

4) At the corner of the street we [saw; were seen] a car. The driver
[was examining; was being examined] the engine.

5) The road is closed because the road-works [are conducting; are
being conducted].

6) Powerful track-laying machines [have developed; have been
developed] for the building of railroads.

7) The European Bank for Reconstruction and Development [has
made; has been made] a loan of $US 120 to the Ukranian Ministry of
Railways for the railway rehabilitation project.

8) David thought that his father [had repaired; had been repaired] his
bicycle.

9) A new railway underground line [is constructing; is being
constructed] in our city. One of the Metro stations [will build; will be
built] near my house.

10) He [broke; was broken] my watch.

11) The manager [has offered; has been offered] me several jobs.

12) 1 [will give; will be given] a leave in July if there is no urgent
work.

13) It was noisy. Nobody [was listening; was being listened] to him.
14) Bill [kept; was kept] his word and arrived exactly at the time he
[had promised; had been promised].

15) You can’t watch the film now; the TV set [is fixing; is being fixed]
by the



Ex.4. Translate the following sentences, paying attention to
different tense forms and voice of the predicates.

1) [Ticnsg pekoHCTPYKIIIT JiHIi MBUAKICTH MOTATIB Oyze 301IbIIeHA.

2) Tu 3BUYAitHO KyIye€ll KBUTKU PaHill, HIXK 30Mpaenics BUPYIIATH y
nmoAaopox, abo B Toi camuil AeHb?—Ile 3amexuTh BiJl 00CTaBUH
(circumstances).

3) Konu Bupymae notsar y bocton? —OauH MOTIT MIOWHO MIIIOB, a
HACTYITHUU OyJie 3a AB1 TOJIUHH.

4) Tlotsar mpoxomuthk Biactanb Big Kuea no Cimdbeponons 3a 18
TOVH.

5) Bu He MokeTe 3apa3 y3sTu MarHiTooH, TOMY 110 BiH 3J1aMaBcs Ta
HMOr0 PEMOHTYIOTb.

6) IIpoBiAHMK BUMIIIOB 3 BaroHa i 3alpOCHUB MACAXKUPIB 3aWHITH CBOI
MICIISI.

7) Konu My mpuMIiid Ha CTaHIIIIO, BC1 KBUTKHU OYJId BXKE MIPO/IaHI.

8) ABTOMOO1JI1 TOBUIBHO PyXaIuCs Bropy.

9) T'osioBHU 1HXKEHEP CKa3aB, 1110 MPO HaIll MPOEKT 0arato roBOPUIIU
Ta HarnpukiHil (eventually), BiH OyB IpUITHATHIA.

10) [TapoBuit gBuryH OyB 3po0OseHuit y 18 cTomiTTI.

UNIT TWO
Copy the following words and memorize their meaning:

level crossing protection system — OropomKEHHsS Mepeizmy
cBiToopamu;

a modular design — Moz1yJIbHE POEKTYBAHHS;

trial operation — gociigHa eKCILTyaTalis;

track layout — cxema komii;

a flashing light — Mmurotuse cBiToO;

remote — JUCTAHIIMHUN, BIJITaJICHUH

a controller — oneparop;

a LED display — cBiTJIOniogHUM 1HIUKATOD;

GSM — miobanbHa cuUcTEMAa MOOUIBHOTO 3B’SI3Ky (CTaHAapt
CTUILHUKOBOTO 3B’513Ky y €Bporii);

a barrier — maroaym,

a barrier drive — npuBoj nuiaroaymy,
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a barrier arm — 6anka nuiaroaymy;

to integrate — OyTH HEB1J’ €MHOIO YaCTHUHOIO;

the authorities — KepiBHUIITBO;

simultaneous(ly) — omHOYacHMI1 (HO);CHHXPOHHUH (HO);
to evaluate — BU3Hauaru, 3a11HIOBATH,

(an) evaluation — BU3Ha4Y€HHsI, OITIHKA.

Read and translate the text using a dictionary if necessary.
FAIL-SAFE PROTECTION SYSTEM

The Julian calendar recorded the year 2001 — the beginning of the
21st century. It was far more than a chronological event, for the
meaning and importance of chronological time is less vital now than
ever before in history. Time began for man more than a million years
ago and until today it has been the mover and shaker of man's destiny.
However, the slow pace of nature has been augmented by the
incredible speed of the developing technology since the last third of
the 20th century. The technological innovations are revolutionizing
our lives more than anything else. Events, inventions, moralities - all
slide and change so swiftly that we seem to be rushing at tomorrow
and our future has already arrived. In that sense the 21st century is
already here, for the responsibility for the events and technology that
will be produced is being formed today.

The Siemens BUE 95F fail-safe level crossing protection system,
characterized by a modular design and low maintenance requirements
and designed for use on main and urban railways, was approved for
trial operation by the Swiss federal office for transport in 1999 and
approved by the German federal railways authorities in January 2001.
BUE 95F is scaleable and can be configured for single or double-track
lines, and multiple-track layouts in station areas. It has a main
signaling interface to the interlocking and up to eight monitoring
signals. It can have up to 16 road signals or flashing lights, up to 8
barrier drives, audible alarms', and a manual switching device.

The system’s electronic controller consists of components of the dual-
channel Simatic S5 AG95F automation system, which 1s designed to
provide safe operation. Two central processing units (CPU) are
connected by fibre optic cables. They operate using the same program,
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simultaneously executing identical functions and continuously
monitoring each other.

A three-stage diagnostic system is integrated into BUE 95F. At the
first, basic level, it can display failures on LED displays. These
guarantee fast on-site diagnosis while evaluation of the other status
indications.

A three-stage diagnostic system road signal, monitoring signal, barrier,
contact, communication, power supply,etc.

A dynamic memory is integrated for more extensive diagnosis. About
512 event indications are stored in this memory. Every activity and
every irregularity of the system is recorded with date and time.
Evaluation is possible via an interface using a service PC.

At the third configuration level, the diagnostic system also provides
for remote diagnosis. Data is transmitted by GSM into a control centre
via a modem. Up to 30 level crossing protection systems can be
combined here. Maintenance staff can also use remote diagnosis to
query the status of any individual crossing protection system.

Robust mechanical systems ensure high reliability. The elevated drive
protects it from snowdrifts and flooding, and it remains fully operable
in storms and extremely high winds. The drive is suitable for barrier
arms up to 13m in length.

Several hundred systems are now in operation in Switzerland,
Denmark, Greece, Egypt, China, and Germany.

Note: 1) an alarm — a warning signal.

Ex. 1. Search the text for the English equivalents of the
following Ukrainian phrases:

Haniitna cuctema 3axucty, OyB CXBaJICHUW [JIs TMPOBEACHHS
BUNPOOYBaHHS,  JIBOKAHAJIbHA  aBTOMaTW4YHAa  CUCTEMa,  JBa
HEHTPaJbHUX MPOLIECOPU, ONMTHUKO-BOJIOKOHHUU Kaleiah, OAHOYACHO
BUKOHYIOUM 1JI€HTHYHI (YHKI], I[IBUJAKE BUSIBJICHHA IOMWIOK,
BU3HAUECHHS CTAHOBHINA, JUI HAWOIJIBIIOr0 BCEOIYHOTO BH3HAYCHHS,
BUSIBJICHHSI TIOMHWJIOK, TIOPYIIEHHS POOOTH CHUCTEMH, PIBEHb
CTPYKTYpH, OOCIyrOByIOUMII TEpCOHaN, s 3anuTy 1HQopMailii,
MEXaHIYHa CUCTEMA sIKa MOTPeOy€e BUTPAT CUJIM Ta €HEPrii , MOBHICTIO
miroya.
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Ex. 2. Answer the following questions to the text.

1 What is the Siemens BUE 95F?

2 What does the system’s electronic controller consist of?

3 How many stages does the diagnostic system have? And what kind
of stages?

4 What is a dynamic memory?

5 What changes were at the last third of the 20th century in the
developing technology?

6 What protects robust mechanical systems from snowdrifts and
flooding?

7 What is an alarm?

8 How many event indications are stored in the memory?

9 What was at the beginning of the 21st century in the developing
technology?

10 What can maintenance staff use?

Ex. 3. Complete the sentences:

1 The system’s electronic controller consists ......... channel Simatic
S5 AGYSF automation system, which is designed to provide .........

2 . signaling interface to the interlocking and up to eight
monitoring signals.

3 configuration level, the diagnostic system also provides for
remote diagnosis.

4 The elevated drive protects it from ......... , and it remains ............
and extremely high winds.

5The driVE 1S «.ueeee e

O e, , basic level, it can display failures on LED displays.
7 They operate ............... , simultaneously executing 1identical
functions and ...............

8 Maintenance staff ............... to query the status of any individual
crossing protection system.

O is possible via an interface using a service PC.

10 Several hundred systems are now in operationin .....................
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Ex. 4. Give a short summary of the text. The following
phrases may be helpful:

The headline of the text (article) is ... — TekcT (cTaTTs) Ha3UBAETHCA ...
The article deals with ... - CrarTs po3rsigae (mpobiemn). ..

The point of the article is that ... - CyTs cTarTi y TOMY, 11O ...

The article pays special attention to ... - Crarta 3BepTae ocoOJIUBY
yBary Ha...

Of great (special) interest is (that) ... - OcobOnuBuii iHTEpEeC B TOMY,
o ...

My opinion is ... - 5 BBaxkaro ...

I doubt that ... - 5 maro cymHIB 110 ...

It’s common knowledge that... - 3araipHOBiOMO, TIIO ...

I might as well add that ... - 51 Mmoxy Takox momaru, IO ...
Needless to say that ... - Hemae nmoTpeOu kazatu, 1110 ...
There are many pros and cons here. — TyT 6araro 3a 1 npoTH.
On the one hand ... - 3 onHOrO OOKY, ...

On the other hand ... - 3 iHmoro Ooky, ...

I’m sure that ... - I BleBHeHUH, 110 ...

In conclusion I’d like to ... - ¥ BUCHOBKY 5 XOTIB OH ...

GRAMMAR REVIEW

Ex.1. Analyze the functions of Participles I in the following
phrases and complete the sentences.

= 1) (When) discussing the project...; 2) Scientists discussing the
project...; 3) The scientists were discussing the project...; 4) Having
discussed the project...

= 1) Having repaired the engine...; 2) The mechanic repairing
engines...; 3) (While) repairing the engine...; 4) The mechanic is
repairing... .

= 1) The workers constructing the railway...; 2) Constructing the
railway...; 3) Having constructed the railway...; 4) The workers will
be constructing... .

= 1) Installing the new equipment...; 2) Having installed the new
equipment...; 3) He is installing... . 4) The firm installing this
equipment... .
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= 1) (While) carrying out the experiment...; 2) The scientists carrying
out the experiment... . 3) The scientists are carrying out... . 4) Having
carried out the experiment....

Ex.2. Say whether the right Participles are used in the
following sentences. Correct the wrong ones. Be very attentive!

1) We were walked down the path leading to the station.

2) Don’t forget to oil the moving parts of the machine regularly.

3) Having missed the 10 o’clock train, he had to send a telegram to his
friends waited for him.

4) The porter went in, carrying two suitcases.

5) It is impossible quickly to stop the train moving at such a high
speed.

6) Worked as a clerk, painter and bus driver, Neil decided to go back
to University.

7) Refrigerator cars are used for the transportation of freezing meat
and other perishable commodities.

8) The received information was not correct.

9) When commenting on the recent developments in the Middle East,
the correspondent presented a number of interesting facts.

10) Tank cars having transported gas or cement should be made of
aluminum or stainless steel.

11) All the computers installed at our office were produced in Japan.
12) The Toyota Co. has recently deciding to spend $800 million a year
on the development of the new electric automobile.

13) While crossed the street, I saw an accident.

14) When typing the article, she tried to be very attentive.

15) The plane had to make a forcing landing.

16) The Internet is a global computer network having millions of users
all over the world.

17) They experimented with the device, not known that it was out of
order.

18) Having taken the wrong bus, Tony found himself in an unfamiliar
town.
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Ex.3. Translate the following sentences paying attention to
the verb + gerund constructions.

1) They kept on talking though the band began playing.

2) I avoided speaking to them about that matter.

3) Try to avoid drinking unboiled water.

4) 1 can’t insist on your staying a little longer because you risk missing
the last train.

5) I can’t help thinking of it.

6) Would you mind my leaving for a few minutes?

7) Would you mind my joining the discussion?

8) Who is responsible in your company for taking the most serious
decisions during the talks?

9) Have you ever dreamed of earning a million dollars?

10) I’d like to thank you all for coming here today.

11) You should stop promising things you are unable to do.

12) He decided against calling her again.

13) I suggest holding another meeting next week.

14) I didn’t remember meeting her before but I pretended I knew her.
15) Why did they postpone discussing this project for an indefinite
time?

16) She likes giving advice to other people.

17) Why does he object to signing the contract with this firm?

18) A heavy rain prevented the fire from spreading.

19) I can’t help being grateful to him for all he has done for me.

20) I 'live only a short way from here, so it is not worth taking a taxi to
get home.

21) I don’t mind going by bus but I hate standing if there are a lot of
people; it is better to go by Metro.

Ex.4. Fill in the gaps with the prepositions and gerunds
formed from the verbs given in the box.

to answer; to change; to finish; to fly; to go; to help; to install; to lose;
to make; to pass; to pay; to see ;to show; to take part; to take up; to
test; to think
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1) She has been dreaming ~ to the Bahamas.

2) Iinsist your  the new automobile to us.

3) She decided ~~ in the conference.

4) We thanked the porter his  us with our luggage.

5) Weather conditions prevented them  their work on time.

6) The constructor insists  our  the device under operating
conditions.

7) I don’t usually carry my passport with me because I’m afraid
1t.

8) Excuse me not  your letter.

9) I haven'theard ~ the schedule of this commuter train.

10) Everybody congratulated her ~ the exam so well.

11) The noise in the next room prevented me _
12) ’'m thinking ~ another trip to Italy.

13) We are looking ~ new computers in our office.

14) The rain prevented him __ to the country.

15) Excuse me = so much of your time.

16) He finished the letter with the words “I am looking ~ you in
Moscow next summer”.

17) He insisted _ for the meal.

Ex.5. Choose the correct verb and translate the sentences.

1) All the students [enjoyed; began; looked forward to] working
harder in the weeks before the examinations.

2) She [avoids; forgets; dreams of] expressing her opinion in public.
3) She [prevented from; excused for; couldn’t help] laughing at his
jokes.

4) Do you [go on; mind; postpone] my airing the room?

5) She [risks; is ready for; postpones] losing everything if she follows
his advice.

6) We [began; suggested; stopped] buying food in this shop because
the owner raised the prices.

7) [Stop; go on; avoid] shouting! I hear you quite well.

8) I [remember; insist on;risk] leaving a map of Rome in the pocket.

9) He [liked; thanked for; disliked] his daughter chatting on the phone
for hours.
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10) I can’t see why the machine [stopped; put off; decided against]
working.

11) He [objected to; prevented from; couldn’t help] warning them
about danger.

12) I don’t [suggest; like; mind] your smoking here.

13) You should [continue; enjoy; stop] drinking so much coffee.

14) In spite of the difficulties he [kept on; insisted on; objected on]
carrying out his experiments.

15) The machine [needs; suggests; can’t help] cleaning.

UNIT THREE
Copy the following words and memorize their meanings:

a colour light signal, a traffic light — cBiTiodop;

a point —CTP1UJIKOBE NIEPEBEICHHS;

a circuit — JaHIIOT, KOJIO;

short-circuit — KOpOTKe 3aMUKaHHSI;

a track-circuit — peHKOBHiI1 JTAHITIOT;

to track-circuit — ycrarkyBaTu peHKOBUMH JIAHIIFOTaMU;
a trunk line, a main line — maricTpais;

a control console — mynbT KepyBaHHS;

a single control center — eIuHMIT IEHTP KEPyBaHHS;

a track diagram — cxema Kodmii;

a switch — nepemukay;

a push-button switch — kHonkOBUIT TepemMuKay;

a delay — 3arpumka;

to delay — 3arpumyBaru;

an approach — miaxiz;

to approach — nmpuOIMKyBaTUCS, MTIIXOAUTH;

to avoid — yHuKaTH;

entire — IiIKMH, YBECH;

conventional — cTaHgapTHUM, TUIIOBUI; 3BUYANHUN, TPATAIIHHHN.
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Read and translate the text using a dictionary if necessary.
BASIC PRINCIPLES OF RAILWAY SIGNALLING

Just as important as advances in manufacturing technology was a
wave of changes in how business was structured and work was
organized. Beginning with the large railroad companies, business
leaders learned how to operate and coordinate many different
economic activities across broad geographic areas.

Communication and control. Engineers in this field are concerned
with all aspects of electrical communications, from fundamental
questions such as “What is information?” to the highly practical, such
as design of telephone systems. In designing communication systems,
engineers rely heavily on various branches of advanced mathematics,
such as Fourier analysis, linear systems theory, linear algebra,
complex variables, differential equations, and probability theory.
Engineers work on control systems ranging from the everyday,
passenger-actuated, as those that run an elevator, to the exotic, as
systems for keeping spacecraft on course. Control systems are used
extensively in aircraft and ships, in military fire-control systems, in
power transmission and distribution, in automated manufacturing, and
in robotics.

Engineers have been working to bring about two revolutionary
changes in the field of communications and control: Digital systems
are replacing analog ones at the same time that fiber optics are
superseding copper cables. Digital systems offer far greater immunity
to electrical noise. Fiber optics are likewise immune to interference;
they also have tremendous carrying capacity, and are extremely light
and inexpensive to manufacture.

No department of railways has been more developed by modern
technology than signalling and telecommunications. Colour light
signals, electrical operation of signals and points, track-circuiting,
route-setting panel control, automatic train operation, computer-based
centralized traffic control (CTC) — these are the basic elements of up-
to-date signalling.

The method of operating long railway lines by CTC began in the USA
in 1927. The principle is that at the central point the operator has a
diagram showing him where every train is and he can control the
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whole section of the line — possibly of two or three hundred miles —
from his control console. The operator can see and control the overall
track circuit. On modern railways the main line and station approaches
are controlled from a single control center to provide regular traffic
and avoid delays.

To control a whole trunk line from one place a single control centre
was first introduced in Japan, on the New Tokaido Line. The entire
line between Tokyo and Osaka is wholly controlled from the general
control center located in Tokyo. It’s well-known that conventional
CTC uses conventional relays. Practical railway experience shows that
it takes much time to transmit information therefore the Japanese
National Railways have developed a new system using transistors and
diodes. This system proves to be more reliable; besides that it is more
economical because it helps to save time: it takes about one second to
scan indications for all tracks.

At present up-to-date electronic equipment including a digital
computer is widely used to automate train operation and to improve
the quality of railway service.

For operating railway traffic, an operating licence issued by the
Ministry of Transport and Communications is required. The operating
licence may include conditions, connected particularly with the extent
and nature of the services to be operated, which complement the
provisions. If requested, the operating licence may be limited to the
provision of passenger or freight services only.

The Ministry reviews the operating licence and its conditions every
five years after issuing the licence. Furthermore, the Ministry may
check whether the railway undertaking fulfils the obligations in
relation to the operation of railway traffic imposed on it by, if there is
serious doubt that the obligations are observed.

An operating licence issued in one state belonging to the European
Economic Area is valid throughout the territory of the European
Economic Area. The Ministry informs the appropriate competent
authority if a railway undertaking licensed in another state belonging
to the European Economic Area no longer meets the conditions to be
complied with for receiving a licence.
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Ex. 1. Answer the following questions to the text:

1 Do railway signalling and communications have the most advanced
technologies and equipment?

2 What are the basic elements of up-to-date signalling? Which of
them i1s the latest one? What’s your opinion on the subject?

3 What does the abbreviation CTC mean?

4 What country was the first to use CTC on its railways?

5 What kind of a diagram does the operator have on his (her) control
console?

6 How long may the section of the main line be controlled from the
single control centre?

7 What approaches are controlled from a single control centre?

8 Why is CTC so important for railways?

9 What railways began to control a whole trunk line by means of
CTC?

10 What devices had been used to transmit information before the
Japanese National Railways developed a new system using transistors
and diodes?

11 Why are transistors and diodes more reliable than relays?

12 What i1s the latest development used to automate train operation
and improve the quality of railway service?

Ex. 2. Search the text for the English equivalents of the
following Ukrainian phrases:

NPUHIIAIT TIOJIATa€E B TOMY, IO ...; IIOBHICTIO KOHTPOJIIOBATH;
moTpeOyeThes Oarary dacy, 1mo0...; M1 i3H1 CTaHIIHH] KOJIii; JUITHKA
3aJII3HUYHOI JI1H1T; 100pe BiIOMO, IO ...;aBTOMAaTU3yBaTH PyX MOTATIB;
3HIMAaTH MOKa3aHHS.

Ex. 3. Translate the following sentences from Ukrainian into
English:

1 BnopoBamkeHHs  AUCIETUYEPCHbKOI  IIEHTpami3aiii  3abe3mnedye
O€3MEUHICTh 3aTI3HUYHUX NIEPEBE3CHb.
2 Jlns rapaHTii O€3MEYHOro KepyBaHHS IIOTATOM BCTAHOBIIOIOTH
CHUCTEMY IIBUIKICHOTO aBTOKEPYBaHHSI.
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3 IloTdar npoioB MapuipyT 0€3 3aTPUMOK.

4 Curnanizalisi BUKOPUCTOBYETHCS JIJII KOHTPOJIIO Ta PETYJIIOBAHHS
pPYyXy HOTSITIB.

5 OOmagHa"HHSA TOTATIB IIE€I0 CHCTEMOIO JIO3BOJISAE IMIBUILUATH
MPOIMYCKHY CIIPOMOXKHICTb JIiHII.

6 Cucrema KepyBaHHsS CTPIUIKaMU Ta CUTHAJIAMHU 3 OJHOTO MYHKTY
HA3UBAETHCA LIEHTPATI3AIIE€I0 CTPLUIOK Ta CUTHAIIB.

7 Jlucnerdyep y UEHTPl KEPYBaHHS OTPUMYE MOBHY iHGOpPMAIliI0 PO
pYyX MOTSTa HA TUIbHHUIII.

8 JlucmeTdyep TOBWHEH KOHTPOJIIOBATH AaBTOMATUYHE KEpYBaHHS
notsiroM. JJis 1bOro BiH BHKOPUCTOBYE Pa/io3B’ 30K Ta MOXE
CIIJIKYBaTHCS SK 3 MAaIIMHICTOM Ta 1 3 4eproBuM I1o ctaHilii (yard
master).

Ex. 4.

a) Translate the words and phrases given in the below into
English:
Jucneruepchbka IEHTpasizallisi, pPEUKOBUN JIAHIIOT, KHOMKOBHUHN
nepeMuKad, MyJabT KepyBaHHS, aBTOMAaTHUYHA YCTAHOBKA MapIipyTy,
KJIaBlaTypa, CXeMa KOJii, TIIbHUI, TU(PPOBUMA KOMIT FOTEP.

b) Fill in the blanks with the appropriate word or phrase
and translate the text into Ukrainian.

Centralized Traffic Control

C... T... C... combines the principles of push-button switches with
the high-speed processing capabilities of a digital minicomputer. The
basic c... c... has two displays for t...d... of the controlled distance
and a centre display. They are placed directly in front of the operator.
The display shows the overall track diagram including current routes,
track occupancy (3ansitocts) and signal indications. The p...-b... s...
are replaced by a compact control console keyboard. This k... enables
the operator to call up an enlarged track plan of a selected s... which
shows the current status of the r... s..., signal indications and t... c...
occupancies.

Besides, the keyboard enables the operator to make a change if
necessary. All these control functions are performed via the d... c... .
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Ex. 5. Complete the sentences:

1 The method of operating long railway lines by CTC

3 At present up-to-date electronic equipment including a digital
computer is widely used..................
4 No department of railways has been more developed by modern
technology than...........................

5 The principle is that at the central point the operator has ......... he
can......... — possibly of two or three hundred miles — from his control
console.

6 On modern railways the main line and station approaches are
......... to provide regular traffic and avoid delays.
7 The operator ................. track circuit.

GRAMMAR REVIEW

Ex.1. Express the idea in the Present, Past and Future
Indefinite (use the adverbials).

1) Passengers [to cross] the railway lines by the bridge.

2) A lab assistant [to show] the equipment to the students.

3) The students [to repeat] new words before the lesson.

4) He [to have] enough time to do this work.

5) The trains [to be late] because of track repair works.

6) The buses [to run] every five minutes.

7) The mechanic from the garage [to do] simple radio repair.

8) Summer holidays [to begin] in July.

9) It [to cost] a lot of money to go to England by air.

10) Robots [to substitute] people in some monotonous operations.
11) Railway lines [to connect] all parts of this country.

12) This company [to provide] us with all the necessary equipment.
13) We [to meet] every Sunday.
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Ex.2. Choose the correct voice form of the predicates and
translate the sentences.

1) A large number of cars [parked; were parked] near the railway
station.

2) The speed of Metro trains [reaches; is reached] 90 km/h.

3) This railway company [will transport; will be transported] freight
only.

4) Wood [replaced; was replaced] by steel as a material for
constructing passenger cars.

5) I [work; am worked] for a construction company which has a lot of
contracts in other countries.

6) The windows of his car [make; are made] of unbreakable glass.

7) We [left; were left] our car in the parking lot near the terminal.

8) Sleepers [hold; are held] the two rails at the right distance.

9) You [will meet; will be met] by an agent from the travel bureau at
the airport.

10) Special railroads such as funiculars [use; are used] on steep grades
in the Alps.

11)The driver [told; was told] his passengers to fasten their safety
belts.

Ex.3. Read and translate the following sentences paying
attention to the modal verbs must, can, may, need, should.

1) Drivers of express and fast trains must have a rest after 3 hours of
work.

2) You should not ride a motorbike without a helmet.

3) You need not hurry up; you may take a later suburban train.

4) What can you do while traveling by train? You can read a novel or
do a crossword puzzle, you can just stare out of the window or talk to
your fellow-traveler, you can sit back and listen to the clicking of the
carriage over the rails.

5) The tickets should not be thrown away as inspectors may check
them during the trip.

6) Passengers should not walk across the railway lines; there is a
footbridge at the end of the platform.
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7) If you are traveling by air, you mustn’t carry anything in your
luggage that can be used as a weapon, such as a knife or a pair of
SCISSOTS.

8) You need not go to the railway station to buy tickets because you
can book them at the nearest travel agency.

9) The Trans-European expresses are equipped with interurban
telephones through which the traveler can contact office or home.

10) In Metro when the passengers get on the escalator, they should
stand on the right so that people who hurry can run by on the left.

11) He can’t leave the country until the police return his passport.

UNIT FOUR
Copy the following words and memorize their meanings:

an intermittent automatic train control — TOYKOBa aBTOMAaTHYHA
JJOKOMOTHBHA CUTHAJI13aIlis;

efficiency — KK/I;

cross-border operation(s) — MPUKOPIOHHI EPEBE3CHHS;

to coast — pyxarucs 1o 1Hepii;

to insulate — i3oJ110BaTH;

to handle data — oOpobnsaTH gaHi;

appraisal — o1iHka,

to appraise — OIIHIOBAaTH;

a view — IIOIVIsJI, TaJIKa;

to view — po3IyIs1aTH;

a point of view — Touka 30py;

from (economic, political) point of view — 3 (€KOHOMIYHOI,
MOJIITUYHO1) TOYKH 30PY;

to exist — HaXOOUTHCH,

responsible — BiMIOB1AaIbHUIA;

responsibility — BiAnoB11aIbHICTB;

to take/accept responsibility — OpaTu, mpuitMaTH BiIIIOB1IAIbHICTb;
benefit — BUroma, KOpucTh;

to benefit (from smth) — orpumyBatu Buroay (3 4oro-HeOyn).

25



Read the text and translate it with a dictionary if necessary.

Industrial and management engineering is the field pertains to the
efficient use of machinery, labour, and raw materials in industrial
production. It is particularly important from the viewpoint of costs and
economics of production, safety of human operators, and the most
advantageous deployment of automatic machinery.

SIGNALLING TECHNOLOGY

(1) Signalling technology has undergone the same revolution as
telecommunications. Availability of powerful computer equipment and
rapid information exchange techniques have led to more sophisticated
signalling systems. These systems are not only able to drive the train,
but decide when is the optimum time to brake, coast or accelerate for
maximum energy efficiency. These abilities have allowed on-board
computers to provide much more necessary information for a driver
which was impossible some years ago.

(2) On the one hand, with the exception of some newly constructed
lines, the cost of providing continuous data exchange between track
and train can be high. On the other hand, up-to-date signalling systems
help to save time which is of great importance for train operation.
Secure coding of information has increased the effectiveness of
intermittent ATC and increased the quantity of data that can be
handled.

(3) Although developed for metro lines, various components of ATC
are increasingly being applied to main lines, because they provide
automatic train protection, control and operation.

(4) Needless to say that safety has become a political question, forcing
a reappraisal of what level of signalling technology is required. More
and more practical railway engineers realize that ATC is essential for
safe operation, even though statistics do not always support this view.
(5) Introduction of ATC is important from economic point of view.
Thus, in metro driverless operation may help to save labour costs'.

(6) It’s quite clear that no modern railway can exist without ATC.
Nevertheless, introduction of this system is not such an easy task as it
may seem at first sight. At present it’s a headache for many European
railways. As we know many more high-speed railway lines are being

26



constructed, more and more trains are being designed and produced
specially for cross-border operation. All this makes operators’ work
more responsible and nervous. New up-to-date ATC facilities must be
installed, and their design, manufacture and installation require great
expenses. But this work must be done, because to benefit from ATC
system railways are to use it throughout their networks.

(7) The railway operator shall have valid, adequate liability insurance
cover corresponding to its asset base or make equivalent arrangements
to provide for its liabilities in case such damage is caused to third
parties by railway operations for which the railway operator is
responsible on the basis of a law or an agreement. Such an insurance
cover or equivalent arrangements shall be valid throughout the whole
period of time during which railway traffic is operated.

(8) Applications for infrastructure capacity shall be made to the Rail
Administration for each timetable period within the period of time to
be laid down by Government decree.

(9) Applications for new capacity, or a change of capacity, for regular
traffic may be made during the timetable period as well. Further
provisions concerning applying for infrastructure capacity and the
deadlines for the submission of applications shall be issued by
Government decree in compliance with the provisions of Annex III of
the Capacity and Infrastructure Charge Directive.

(10) If there are several applicants for the same infrastructure capacity
or the requested capacity has effects on the capacity requested by
another applicant, the Rail Administration shall in the first place
attempt to co-ordinate the requests between the applicants. In such
cases, the Rail Administration may offer applicants capacity that does
not essentially differ from the capacity they have requested.

Note: 1) labour costs — BuTpara Ha 3apo0iTHY mary.

Ex. 1. Answer the following questions to the text.

1 What was the result of introduction of powerful computer
equipment?

2 What are the main functions of sophisticated signalling systems?

3 Was it possible for a driver to receive all the necessary information
some years ago?
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4 Is it expensive to provide continuous data exchange between track
and train?

5 Where are various components of ATC being applied?

6 Do you think that safety is a political question? Can you give any
reasons?

7 Why is introduction of ATC important from economic point of
view?

8 Is introduction of ATC an easy task?

9 Is an operator’s work responsible and nervous?

10 Why is it vital to introduce automatic train control?

Ex. 2. Go back to the text, guess the meaning of the following
phrases and translate them into Ukrainian:

to undergo revolution; continuous data exchange; in a mere 6 ms;
secure coding of information; at first sight; throughout (their)
networks.

Ex. 3. Search the text for the English equivalents of the
following Ukrainian phrases:

HasgBHICTb; 3 OAHOTO OOKy; 3 1HIIOTO OOKYy; IIIJIKOBUTO SICHO
(OYEeBHUIHO);HE TaKe MPOCTE 3aBIaHHS; MOTPeOy€e BEIMKUX BUTPAT.

Ex. 4. Translate the following sentences into English:

1 3 ogHOro OOKy, I1i HOBI TEXHOJOTIi JO3BOJAIOTH 3a0ILIAJIUTH Yac, 3
1HITOTO OOKY, BOHH MOJIETITYIOTh PyTHHHY POOOTY.

2 Hemae HeoOX1AHOCTI Ka3aTH Mpo MPUBLIEH LIBOTO MPOEKTY.

3 I1[IIKOBUTO OYEBMJHO, IO HIXTO HE TNEpeKyiaae Ied TEeKCT, He
3HAIOYH TEPMIHIB.

4 JKomna cydacHa 3aJli3HUIST HE MOXKE ICHYBaTH 0€3 aBTOMaTHYHOIO
KEpyBaHHS MTOTSATOM.

5 BrpoBapkeHHsT HAMOUIBIN CKIIaHOT KOMIT IOTEPHOT TEXHOJIOT11 0yI0
OILIIHEHO 3 €KOHOMIYHOI TOYKH 30pY, TaK K HE MOTPEOyBaJIO BEIUKHUX
BUTpAT.

6 lle He Taka mpocrta 3amada, sIKa MOXKE BHUSBHUTHCA Ha NEPIIAU
MOTJISIL.
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7 HasaBHicTb OOpPTOBOTO KOMIT'IOT€pa J03BOJISIE OOMIHIOBATUCSA
aHAJOTOBUMH JTAHUMH.

Ex. 5. Go back to the text and using the paragraph reference
and find the words which are similar to:

facilities, fast, advanced, to permit (paragraph 1);

to build, to demand, only, safe, data, amount, to process (paragraph 2);
to work out, underground, different, an element, to use, a trunk line
(paragraph 3); a matter, to understand, important, to back up
(paragraph 4); to assist (paragraph 5); obvious, up-to-date, a railroad,
simple, a job, nowadays, to build, costs (paragraph 6).

Ex. 6. Complete the sentences:

1 Availability of powerful computer equipment and rapid information
exchange techniques ..................

2 These abilities have ............ for a driver which was impossible
some years ago.
3 has increased the effectiveness of intermittent ATC

and increased the quantity of data that can be handled.

4 More and more practical railway engineers realize .................. ,
even though statistics do not always support this view.

S , introduction of this system is not such an easy task
as it may seem at first sight.

6 All this makes operators’ .......................e.

7 But this work ............. , because to benefit ............ are to use it
throughout their networks.

29



GRAMMAR REVIEW

Ex.1. Match the beginnings of the sentences with their endings.

1) The cursor on the screen can be
moved

2) You must not cross the street
3) You should hurry up

4) Can you show me

5) You may take any of these
instruments

6) You need not copy this text

7) Something was wrong with the
car

8) Never put off till tomorrow

9) Drivers should not surpass

10) You may wait in the office
11) Everybody must pay

12) You need not write this letter

a) till it stops raining.

b) what you can do today.

c¢) he couldn’t start it.

d) the speed of 60 kmh within the
city limits

¢) we can be late.

f) taxes to the government.

g) I’'ll give you a Xerox of this
page.

h) I’ll phone them.

1) the way to the station?

j) because I don’t need them now.
k) when the red light is on.

1) with the help of the mouse.

Ex.2. Present Indefinite Active or Present Continuous
Active? Put the verb in brackets into the correct tense form.

1) Many foreign tourists [to travel] in our country at present.

2) A person with a good education usually [to get] a better job.

3) The train is late because the workers [to repair] the track.

4) As a rule the workers [to repair] the track in summer.

5) Look! Two aircrafts [to fly] in the dark sky.

6) This fast train always [to arrive] on schedule.

7) This section of track [to need] reconstruction.

8) The problem of ecology [to become] one of the most important

problems for mankind now.

9) Englishmen very seldom [to talk] on the Underground. They [to

prefer] to read newspapers.

10) My TV set [to work] better now because we have installed the

external antenna.

11) I can’t talk to you because I [to hurry].
12) The phone [to ring]. Can you answer it?
13) The arrow of compass always [to point] to the North.
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14) Nowadays the railways in the USA [to transport] only 0.6 per cent
of passengers.

15) ... all these passengers [to wait] for the suburban train arrival?

16) ... you often [to receive] letters from your former group-mates?
17) Please, don’t make much noise. The students [to write] a test.

18) ... he usually [to buy] one-way or round trip tickets?

19) What berth ... you [to prefer] to travel by?

20) Where is John? — He [to meet] his friends at the airport.

21) What platform ...our train [to depart] from?

22) What ... you [to look for]? — I[to look for] my umbrella. Look out
of the window, it [to rain] cats and dogs.

Ex.3. Past Indefinite Active or Past Continuous Active? Put
the verb in brackets into the correct tense form.

ON THE PLATFORM

The train [to stop] at a small station. A passenger [to look out] of the
window and [to see] two women who [to sell] cakes. The man [to
want] to buy a cake. The women [to stand] rather far from the
carriage. The man [to call] a boy,

who [to walk] on the platform near the carriage and [to ask] him:
“How much does the cake cost?” “Three pence, sir,” — [to answer] the
boy. The man [to give] him sixpence and [to say] to him: “Bring me a
cake, and with the other three pence buy one for yourself.” Some
minutes later the boy [to return]. He [to eat] the cake. He [to give] the
man three pence change and [to say]: “There was only one cake, sir.”

UNIT FIVE

Copy the following words and memorize their meanings:
logistics — joricTuka;
warehousing — CKJaayBaHHS;
packing — makyBaHHSI, yIIaKOBKa;

shipping — HaBaHTa)KyBaHHS, IEPEBE3CHHS BaHTAXKY;
delivery —nocraBka;
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logistics information services —oricTuyH1 1H(QOpMaIliifHi TOCTYTH;
closely linked supply chain —nanIfOT TiCHO 3B'SI3aHUX MOCTABOK;
supply chain management —yrnpaBiliHHS JTAHIIIOTOBUMH MOCTABKaMMU;
logistics operator —ornepaTop 3 JOTiCTHKY;

inventory — IHBEHTapHU3allis;

unavoidable —HeMuHy4uii, 000B'I3KOBUI;

3PL (third-party logistics) — pi3HOBUJ JIOTICTUKH,KOJIM YacTHHA
JIOTICTUYHUX (DYHKIIIM NIepenaeThcsi CTOPOHHINA OpraHizalii;
4PL (fourth-party logistics) — pi3HOBUJ JIOTICTUKHW,KOIM BCI

JIOTICTUYHI (PYHKIIIT BUKOHYIOTHCSI OJTHIEI0 CTOPOHHBOIO OPTaHi3alli€lo;
waistefulness (of time, money, etc.) — MapHOTPaTHICTb;

barrier-free rail-freight — Oe3nepenikoaH1 3a1I3HUYHI IEPEBE3CHHS;
fully-fledged services — mOBHOIIIHHI TOCTYTH;

enhanced services — po3mMpeHi MOCIYTH;

inter-modal transport — pi3HOpiIHUM (IHTEPMOAAIBHUN) TPAHCTIOPT;
global positioning satellite (GPS) system —cucrema cymyTHHKOBOTO
MO3UIIIOHYBaHHS;

electronic data interchange (EDI) system —cucrema oOMiHYy
CJICKTPOHHUMU JTAHUMHU;

supply chain —naHIIOT TOCTABOK;

freight forwarder —excnienqurop;

procurement —pu10aHHS.

TRANSPORTAION AND LOGISTICS

Ukraine lies between Europe and Asia serving a bridge geographically
and economically. This location at the crossroads of two continents
enables Ukraine to develop its transport and logistics activities. But
transit problems on our road network have increased day after day.
Ukrainian authorities have put into place the initiatives to promote the
crossover from road travel towards the other transportation methods.
Before the 1970s, the term ‘“logistics” was hardly ever used in
economic studies in Ukraine. Research on logistics did not start until
the early 1980s when the concept was imported from other countries.
After 20 years of research and implementation, logistics has become
as element in Ukraine economic development.
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The study of logistics in Ukraine originated with the material
management system. However, since the concept of logistics is still
vague, many people still confuse logistics with material management.
Logistics 1s the management of the flow of resources between the
point of origin and point of destination in order to meet some
requirements, for example of customers or corporation. The resources
managed in logistics can include physical item such as food, materials,
equipment, liquids, and staff as well as items such as information,
particles and energy. The logistics of physical items usually involves
the integration of information flow, material handling, production,
packaging, inventory, transportation, warehousing, and often security.
The complexity of logistics can be modeled, analyzed, visualized, and
optimized by dedicated simulation software. Minimizing use of
resources and time are common motives.

The term logistics comes from the late 19th century: from French
logistique, from loger “to lodge”. Logistics is considered to have
originated in the military’s need to supply itself with arms,
ammunition, and rations as it moved from base to a forward position.
In the ancient Greek, Roman and Byzantine empires, military officers
with the logistikas were responsible for financial and supply
distribution matters the New Oxford American dictionary defines
logistics as “the time-related positioning of resources”. Logistics is the
process of planning, implementing, and controlling the effective and
efficient flow of goods and services from the point of origin to the
point of consumption.

Logistics as a business concept evolved in the 1950s due to the
increasing complexity of supplying business with materials and
shipping out products in an increasingly globalized supply chain,
leading to a call for experts called “supply chain logisticians”.
Logistics 1s composed primarily of functions such as transportation,
warehousing, packing, shipping, customized processing, delivery,
logistics information services, and other operations. Today, logistics
synthesizes these relatively independent traditional functions into a
closely linked supply chain. It employs an integrated management
approach using modern management concepts, methodology, and
technological tools. Supply chain management is the backbone of
today’s logistics services.
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There is major difference between traditional and modern logistics.
Modern logistics is not just a process made up of a series of activities.
More importantly, it is the process of a logistics provider participating
in the management and administration of a manufacture’s business. A
traditional logistics operator manages with the objective to maximize
profits and minimize operation costs. However, a modern logistics
operator aims to offer services that meet customer needs, optimize
overall performance of logistics function, and maximize profits and
minimize costs across all logistics activities.

Thus, modern logistics is about service and integrated management of
the whole supply chain.

From the micro-economic view, companies have little room to
manoeuvre in cutting production and sales costs as production
technologies have improved and management know-how grown on a
global level. However, there is still ample potential to cut costs in
logistics operations such as transportation, warehousing, delivery, and
inventory. Thus, companies begin to change the emphasis from the
dominance of capital and product differentiation to logistics. In
general, logistics costs are a significant part of operating expenses,
accounting for 5 % --35 % of sales revenue. Today’s integrated supply
chain has made logistics management a priority for many companies.
Today’s logistics has become an advanced form of organization and
management technology. In addition to cutting costs and raising
productivity, logistics is widely recognized as an important source of
revenue.

From the macro-economic viewpoint, Ukraine economy and industrial
structure are at historical turning point, requiring adjustment and
integration. Most of Ukrainian traditional industries are in financial
difficulty due to fierce competition. The malfunctioning supply chain
has become the major weak link of industrial development and many
industries are gradually shifting the focus of their competition to
distribution channels. Modern logistics can open the door to Ukraine
future industries as well as to economic integration. Industries that can
grasp the opportunities offered by logistics will steer the Ukraine
economy into the future.

Logistics is an unavoidable part of all business. A company can
perform its own logistics (self-operated logistics), obtain outside
logistics services, or outsource logistics function to a logistics
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company (third party logistics). Third party (3PL) involves using
external organization to execute logistics activities that have
traditionally been performed within an organization itself. According
to this definition, third party logistics includes any form of
outsourcing of logistics activities previously performed in house. It,
for example, a company with its own warehousing facilities decides to
employ external transportation, this would be an example of third
party logistics. Logistics is an emerging business area in many
countries.

The concept of Fourth-Party Logistics (4PL) provider was first
defined by Andersen Consulting (Now Accenture) as an integrator that
assembles the resources, capabilities and technology of its own
organization and other organizations to design, build, and run
comprehensive supply chain solutions.

Whereas a third party logistics (3PL) service provider targets a
function, a 4PL targets management of the entire process. Some have
described a 4 PL as a general contractor who manages other 3PLs,
truckers, forwarders, custom house agents, and others, essentially
taking responsibility of a complete process for the customer.

Logistics management has become a specialized field as markets have
become more extensive. Consequently, many businesses favour
outsourcing their logistics functions to specialized third-party logistics
providers. In doing so, they free themselves to concentrate on their
core business, while making full use of the specialized knowledge,
technology, and information networks of the third-party providers to
obtain services or production factors that are not available within their
own organizations. A professional working in the field of logistics
management is called a logistician.

In Ukraine today, after a product leaves the factory, the distribution
cost including the various logistics functions such as shipping,
warehousing, transportation, and delivery to the end user is about
50 % of the price. Such wastefulness of time, money and inventory
presents a huge opportunity for logistics development.

Modern logistics system span many industries and operations but two
most important are transportation and warehousing. Many well-known
logistics companies in the USA, Europe and Japan have their origins
in transportation and there are strong ties between logistics and
transportation. The transportation industry is the basic logistics carrier
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and transportation costs represents a large part (about 45 %) of
logistics costs. Rationalizing transport methods, minimizing costs,
shortening transit times, and delivering products punctually and
accurately are all prerequisites for cutting logistics costs and
improving logistics efficiency. Transportation is the core of modern
logistics and barrier-free rail freight is a key part of modern logistics.
Railways are the main mode of transport in Ukraine where they enjoy
an extensive network, adequate warehousing, well-located stations,
large-scale container systems, special transport services, courier
services for luggage and parcels, etc. The facilities and equipment
used by traditional rail freight are well positioned to develop modern
logistics. Furthermore, railways have comparatively high brand
recognition in the domestic market, a skilled staff, a stable client base
and a dominant market share. The advantages of railways are unlikely
to be matched by other transport modes, logistics companies, and
newcomers to the logistics industry for a long time.

The top priority in developing Ukraine's logistics is building large-
scale integrated logistics centres offering services over a wide area.
Logistics systems in Ukraine must match the current state of Ukraine's
transport industry while accommodating world trends in logistics.
Modern logistics emphasizes provision of fully-fledged services to
customers rather than just physical movement of goods. Therefore,
development of rail freight in the direction of third-party logistics
could greatly improve rail transport by introducing new management
concepts and enhanced services. Furthermore, modern logistics is a
high-technology industry based on information technology (IT) and
the Internet. It requires systems facilitating information exchange
including advanced electronics technology global positioning satellite
(GPS) systems, telecommunications, bar-coding, electronic data
interchange (EDI) system, automated warehousing, automated
shipping, inter-modal transport, etc. As a result, it has the potential to
drive rail transport, especially rail freight, to new heights. A logistician
is a professional logistics practitioner. Professional logistics are often
certified by professional associations. One can either work in a pure
logistics company such as shipping line, airport or freight forwarder or
within the logistics department of a company. However, as a
mentioned previously, logistics is a very broad field encompassing
procurement, production, distribution and disposal activities. Hence,

36



the career perspectives are very broad also. A new trend in the
industry are the 4PL, or Four-party of logistics —consulting companies
offering logistics services.

Some universities and academic institution train students as
logisticians, offering undergraduate and postgraduate programs.

Answer the following questions to the text:

1 How can a competitive efficient and reliable freight transport system
be achieved?

2 When did the study of logistics originate in Ukraine?

3 What is logistics?

4 What is logistics composed of?

5 What is a major difference between traditional and modern logistics?
6 In what logistics operations is there still potential to cut costs?

7 What has the logistics management become?

8 What is the third-party (3PL) and four-party (4 PL) logistics?

9 What are the prerequisites for cutting logistics costs and improving
logistics efficiency?

10 What 1s the core of modern logistics and what is its key part?

11 What do you know about the profession of a logistician?

Exercisel. Five people give their definition of logistics.
Complete the sentences using the words from the box.

provide |storage |support |distribution | delivery | maintenance

1 Logistics means that you manage the procurement and movement
of goods and the of inventory.

2 It means the of the goods the customer
needs at the right time, in the right place and of the right quality.

3 My definition of logistics is this: it's to plan, organize and manage

operation that services and goods.

4 Logistics —that the purchasing, maintenance, and
material and staff.

5 Logistics is the planning and of operations

such as warehousing, inventory, transport, procurement, supply, and
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Exercise 2 Complete the following table using the words

from exercisel

Verb Noun
1 to provide
2 storage
3 to support
4 delivery
5 distribution
6 to maintain
7 transportation
8 purchasing

Exercise 3. Match the definitions (a-f) with the words (1-6)

below.

1) Carrier - a) number of shipments under one
2) freight forwarder = ---- bill of lading

3) supplier - b) person or firm named in a freight
4) haulage contractor  ---- contract to whom goods have been
5) courier -—- shipped or turned over for care

6) consignee

c) company that specializes in the
speedy and

d) company
conveys goods
e) company which supplies parts or
service to another company: also
called vendor

f) person or business that arranges
documentation and t ravel facilities
for companies dispatching goods to
customers

that transports or

Exercise 4. Match the verbs( 1-8) with the activities( a-h) to

make phrases from the recordings.

1) book

a) a number of shipments under
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2) consolidate ~ --- one bill of lading
3) deal -—-- b) booking reservations
4) keep -—-- c) that health and safety standards
5) make ---- are maintained
6)use = - d) modern computer systems
7) check -—-- e) space on a ship, train, lorry, or
8) take care ---- plane
f) where to put them in the
warehouse
g) an eye on the budget
h) with all the necessary
documentation

Exercise 5. Replace the underlined verbs with words from
the box that have the same meaning.

provide train organize | ensure inform check
about

1 We supply software for the car industry.

2 1 often_advise clients on the most suitable transport method.

3 In my job I have to make sure that passengers arrive on schedule.
4 My job is to supervise incoming goods.

5 T also plan the transport of goods.

6 I instruct staff.

Exercise 6. Put the words in the right order. Use the correct
form of the verb.

1) an excellent / provide/ delivery service/ my company.

2) you/ how much/ handle\ cargo/ per year?

3) to other countries / not ship/ we/ chemical products.

4) responsible for/ be/ the warehouse manager \also\ vehicles and
machinery.

5) to foreign companies\ car parts/ this vendor\ supply?

6) wusually\ arrange\ for companies\ a freight forwarder\
documentation.
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Exercise 7. Complete the job advertisement for a corporate
procurement manager with words from the box.

Fulfillment, negotiation, 3PL providers, procurement, command,
vendors, supply chain, relationship

We are looking for a proactive and dynamic professional to take care
of our strategic procurement and supplier management.
Reporting to the Director of Corporate Procurement, the successful
applicant will be responsible for managing both internal and external
customers and for working with the appointed . While
liaising with the team, , and related stakeholders you
will also be involved in providing business support to optimize
finance-logistics processes, order and logistics costs.

Other responsibilities include providing initiatives to help maximize
company business profitability and efficiency.

The 1ideal candidates should have a degree in
management or logistics management with a deep understanding and
knowledge of the Ukraine logistics market. You should have at least5
years' experience in a multinational company and you should possess
outstanding skills. Based in Macau,
excellent of English and Cantonese
is a must with Mandarin an advantage.

If you are interested in this role, please send your CV in Word format to ...

Exercise 8. Read the job advertisement again and answer the
questions.

1 What area will the new corporate procurement manager head?

2 What are the procurement manager's main responsibilities? List two
or three.

3 Who will he\she collaborate with closely in his/her job?

4 What qualifications are expected?

5 What kind of experience is required?

Can you think of other areas which are important in procurement?
Discuss with a partner.

Exercise 9. Put the words in the right order.
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1) a shipment /send \us \a quotation \please \ for \ to Madras

2) state/ delivery date/ pleas/ in your quotation \ your earliest

3) let us/could/ the following/please/have a quotation/ including /
details\ you?

4) a part truck load/ shipping rates/what /your / for / to Birmingham \
are?

5) on sailing times/ your quotation \detailed information\ should/ and
insurance rates/ also include

6) the following consignment \ please\ for\ of\ quote/ the transport

Exercise 10. Here is an extract from a manual providing rail
loading instructions. Complete the sentences with words from the
box.

Carefully, attention, overhanging, sure, place, examine, secure,
instructions, fit, distribute, exceeded, diagonally

1 vehicle carefully.

2 Do not place items across the wagon.

3 When loading is complete, ensure that it fully complies with
the given in our Rail instructions Manual.
4 Examine load carefully and make it is
undamaged and suitable for loading.

5 longer heavier pieces on the bottom of the load.
6 Make sure that load is :

7 Ensure vehicle is to be loaded.
8 Strap loads.

9 When checking the vehicle, give special to door
securing mechanisms.

10 Examine vehicle and load after loading.

11 load as evenly as possible and make sure

wheels are evenly loaded.

12 Check whether vehicle capacity has not been
Exercise 11. Complete this e-mail about an urgent shlpment

with prepositions from the box.

By, on, with, in, out, to, between, of
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Sonja,

I'm afraid there is a problem the scheduled
deliveries France next week. Our
customer GLP Pharma in Brest has just informed me that they are
already of stock and need an urgent delivery of the5
mg 30 and 90 piece packs this week instead next week.
If possible, we must try to make one partial delivery
Wednesday (or as soon as the packaging is finished) of the5 mg 30
packs.

We need a direct truck our production plant in Germany
and Brest. If we can ship the first part on Wednesday morning ,the
truck should arrive Brest on Thursday afternoon.

The second delivery should be made on Friday with the rest of the
Smg 30 and the 90 packs. As the products are needed

Monday, the truck must be unloaded in Brest on Saturday or Sunday.
Please let me know if there are any problems!

Regards

Jon Frederikson

Logistics Manager

Exercise 12. Complete the sentences with words from the
box.

So, because, although, due, as a result, despite, because, in spite of

1 Our customer wants to ship valuable freight,
we need to think about insurance.
2 A part of the shipment seems to be damaged

of rough handling.

3 the customer needed them urgently, the
goods couldn't be delivered at the weekend.

4 The flight was cancelled to bad weather.

5 The driver had the wrong address. , 1t took
him three hours to deliver the pallets.

6 The consignment arrived on time all the

customs formalities at the border.
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7 We are unable to ship today we've had
problems with our dispatch.
8 being well secured the load was damaged on arrival.

Exercise 13. Complete the descriptions of typical warehouse
equipment and systems. Use the adjectives from the box.

Stackable, mobile, adjustable, suitable, bulky, driverless, rigid,
collapsible

1 An automated guided vehicle is a
truck which 1s controlled by computer and electrically powered.

2 IBCs( intermediate bulk containers) made of metal or plastic
are , but there are also ones made of canvas, which are

3 Cage and box pallets are fitted with corner-posts and sides. They are
usually

4 1In palletized storage APR, 1. e. pallet racking, is

used.

5 Some products are not for palletization e.g .

expensive electronic items or large and
items.

6 shelving is often used for smaller

products in non-palletizsed systems.

Exercise 14. Read and translate the text using a dictionary if
necessary.

a) Freight Transport Logistics in Europe -the key to
sustainable mobility.

Europe’s transport policy has been characterized by liberalization and
harmonization over the years. This has slowly shaped the transport
system into what it is today. Globalization and concept of wider
Europe create further challenges. The fast growth of freight transport —
driven to a large extend by economic decisions—contributes to growth
and employment but also causes congestion, accidents, noise,
pollution, increased reliance on imported fossil fuels, and energy loss.
Infrastructure resources are limited and any disruption in the supply
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chain (i.e. energy) has necessarily a negative impact on the EU
economy. Without adequate measures, the situation will continue
worsening and increasingly undermine Europe’s competitiveness and
the environment that we all live in.

To overcome such problems, Europe’s transport system needs to be
optimized by means of advanced logistics solutions. Logistics can
increase the efficiency of individual models of transport and their
combinations. As a result, fewer units of transport, such as vehicles,
wagons, and vessels should care more freight. Impact on the
environment will decrease accordingly.

Rail and inland waterways need to be modernized. Air freight should
be more closely integrated in the system. The positive development of
short sea shipping should be accelerated. Deep-sea shipping and its
hinterland connections need to be enhanced. Shifts to more
environmentally friendly modes must be achieved where appropriate,
especially on long distance, in urban areas, and on congested
corridors.

At the same time each transport mode must be optimized. All modes
must become more environmentally friendly, safer, and more energy
efficient. Finally, co-modality, i.e. the efficient use of different modes
on their own and in combinations, will result in an optimal and
sustainable of resources.

b) Over to you.

1 Do you also have to deal with growing freight traffic in your
country?

2 How do you think transport system could be improved?

3 How do you think intermodal transport systems can make freight
transport more efficient?
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